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Calculate the mean.
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Calculate the mean.

Is the mean an actual number in the data set?


What do you notice about the means of the three data sets?

Which data set is most symmetric around the mean? This means that about half of the data is greater than the mean value; half of the data is less than the mean value.
How would you describe the graphic relationship between the mean and distribution of the data for the Pirates?

What would you notice about a data set that is not symmetric around the mean?
Answer KEY

Baseball Wins for the Past Ten Years
	stem

Penguins 

2
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0 1 1 4 5 5 5

2 3 4 

Calculate the mean.

20+21+21+24+25+25+25+32+33+34 = 260

260 ( 10 = 26

The mean is 26 wins per year.

Is the mean an actual number in the data set? 
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Calculate the mean.

12+15+15+18+29+29+29+36+38+39 = 260

260 ( 10 = 26

The mean is 26 wins per year.

Is the mean an actual number in the data set?
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Calculate the mean.

19+20+20+28+28+29+29+29+29+29 = 260

260 ( 10 = 26

The mean is 26 wins per year.

Is the mean an actual number in the data set?

No


What do you notice about the means of the three data sets?

The mean value for each team is the same: 26.
Which data set is most symmetric around the mean? This means that about half of the data is greater than the mean value; half of the data is less than the mean value.
Probably the Panthers. There are four values below the mean; six values above the mean.

How would you describe the graphic relationship between the mean and distribution of the data for the Pirates? The distribution is skewed. More of the values are above the mean value of 26. There is a gap in the data between 20 and 28.
What would you notice about a data set that is not symmetric around the mean? There can be highs and lows with a gap in between data like in the example of the Pirates’ data above. In order for it to be a non-symmetric distribution there needs to be more of either the highs or the lows. Outlier data may cause a non-symmetric distribution as well.
